[image: image1.png](a)Firm A has a margin of 12%, sales of $600,000, and ROI of 18%. Calculate the
firm's average total assets. (Omit the "$” sign in your response.)

Average total
assets $

(b)Firm B has net income of $78,000, turnover of 1.3, and average total assets of
$950,000. Calculate the firm's sales, margin, and ROI. (Round your percentage
answer to 1 decimal place. Omit the "$" and "%" signs in your response.)

Sales $
Margin %
ROI %

(c)Firm C has net income of $132,000, turnover of 2.1, and RO of 7.37%. Calculate
the firm's margin. (Round your percentage answer to 1 decimal place. Omit
the "%" sign in your response.)

Margin %




Please calculate figures and fill out the blanks. Write down the numbers in the post or in this attachment
